338

9015

9016

9021

MD (CDM-TD) - 70W - RX7s
Colour: 01-18

Y40 = T
Kg0.80

| lss CE 14—

MD (CDM-TD) - 150W - RX7s
Colour:01-18

IP 40

Kg 0.80

L[] CE

STH (SDW-T) - 50W - 100W - PG12-1

Colour: 01-18

IP 40

Kg 0.80

Luminaires with transparent tempered glass louver

1= V| CE

9013

92014

MD (CDM-TD) - 70W - RX7s
Colour:01-18

P23

Kg1.90

=11 Jss CE

MD (CDM-TD) - 150W - RX7s
Colour: 01-18

1P 23

Kg1.90

Luminaires with sand-blasted tempered glass louver

I o CE

220

936

Electrical connection kit

H{m) Di(m) D2(M) Lux  Lux
ol

Him) Difm) D2M) Lux Lo
244 (med) (max) 262"

248" (med) (max)

22 2 450 1000 28 24 864 2100

44 m 253 56 48 216 526

9 28 63 ng 10 54 13

=== MD70WRXTs

1 1
2 4 2
3 66 6 50 T2 3 68 72 96 234
4 8 4
5 5

mn4 10 10 40 =R MD 150 W RXTs 1412 35 84

o1 white
18 grey
NOTE



422 35w =)
Power-factor-corrected electromechanical ballast @ CE
for luminaires with metal iodide lamps

422/T with timed igniter =

424 70W @ C€
Power-factor-corrected electromechanical ballast
for luminaires with metal iodide lamps

424/T with timed igniter

426 150W
Power-factor-corrected electromechanical ballast
for luminaires with metal iodide lamps

426/T with timed igniter

423 35W an| (=)
Electronic ballast (TRIDONIC) for luminaires CE
with metal iodide lamps

425 70W o 5
Electronic ballast (TRIDONIC) for luminaires CE
with metal iodide lamps

427 150W
Electronic ballast (TRIDONIC) for luminaires
with metal iodide lamps

432 50W
Power-factor-corrected electromechanical ballast
for luminaires with STH lamps (SDW-T)

White Son

434 oo0w
Power-factor-corrected electromechanical ballast
for luminaires with STH lamps (SDW-T)

White Son

433 50W
Electronic ballast for luminaires
with Mini White Son GX12-1 lamps

435 100W
Electronic ballast for luminaires =
with Mini White Son GX12-1 lamps @ C€

416 70W (=)
Electronic transformer @ C€
A=110 - B=50 - C=35

a7 105W &)
Electronic transformer @ C€
A=110 - B=50 - C=35

418 200W

Electronic transformer
A=225 - B=55 - C=45

DIl ce

Size (mm)

M)

q o
[g }
ol 0

f 220 {

F—70— 55—

=
I

=)
F—70 — 55—

| 250 |

F394—88 —

130 —

==
.
F394—88 —

EE

—100 — | 290 1

F394—88—

bF——130 —

(5% S

FBA ——A—H

FBA b Al

339





